Attempt ......... questions

"H.FC. 0fx2—5x+6andxz—x—6is

a) x-3
c) X - 4

b) x+2
d) x-2

What should be added to complete the

square of X +647 ...

a) 8x22 b) —8)52
¢c) 16x d) 4x
> L.C.M. of 15x°, 45xy and 30xyz is
a) 90xyz b) 90x;yz
c) 15xyz d) 15x7yz
4 Q- : 2% +y . X
Simplify (x-l-y - 1)7(1 “ T
% %
a) Ty b) 5
y x
c) d) o

SH.C.F. of x>+ 3x+2, x> +4x + 3,
andx " +5x+4i1s.....

a) x+1 b) x+ 1)(x+2)
g) £4 3 d x+4)x+ P
S H.CF.a>+ b and a°- ab + b’ s °,
a)a+b b) a:-ab+b'
¢) (a-bY d) a9
" Simplify <P a+abib’
a* - b a4 b
1 |
a) atb b) a-b
a-b at+b
c) a+bh ) 2+ b

The square root of X+ )—}; +2

2) +(x+) b)) +()
o *(-3) o 2(H0)
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a) x-3
c) X -4

I — ﬁﬁ,w- 6~ i =58

b) x+2
d) x-2
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a) 8X22 b) '8’52
c) 16x d) 4x
<l J’l._jb:ﬂ;%SOxgzzﬂlez , 45Xy
a) 90xyz b) 90x yz
c) 15xyz d) 15x7yz
v (2X T Y ;
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a) x+y b) x+ty
y i
c) T d) v
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$ T+ 5x+41:1x3+3x+2, x2+4.x+3

f}’i]}u{

_.% ........................
P x+ 1 b) (x+ 1)(x+2)
£ X433 d) x+4)(x+1)
'é’ .................. f‘b,bl;{az -ab+ b2J3133+ b3
a)a+b b) a’-ab+b’
¢) (a-b) d) a*+b°
A S i LES]( al - bj ) a —:abtbz =
L a-b a +b
1 1
2) a+tb b) a-b
a-b a+b
C) @ +b d) pEe
B — d/l)«j?{ x+l4+2
a) i(x+%) b) i(x%i—l,)
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